Zero Product Property: T aXD=0, then a=0 awnd|or b= O
ex- (X¥6)(X13)=0 +tnen (x-‘a) 0 andjor (x43)= O

80 X=6 07 X=-2
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L. Solve for y (and pl in vy
(ev ex\t oneside
2. Factor(d f‘orge the GGFY)

3. Sel each factor each 1,0 zero
and solve

6xX° +5=-17x
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1. Get the squared term alone. s 2(x —~10)? = 00

e e ™ o

2. Take the square root of both

sides (2nd )(X* ) m vl DO

3. Don't forget the +| =19 =580
4. Finish solving (if necessary)
5. You should have TWO answers

" Round tv2 deci mg\s

8, A Zookeeper is buying fencing 0 enclose a pen at the z00. The pen1is an isosceles o 0
right, triangle. There is already a fence on the side that borders a path. The grea of
the pen will be 4500 square feet. The zZookeeper can buy the fencing in whole fegt oniy.

How many feet of fencing should he buy?

AG000 =/x>

2 SIDES need fencing
2(94.9%) = |3‘).'+\-|




¢ [Quadratic Formula: AWWATS woRgs
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W ONE, TWL, 0¥ nioNE

Einds x-1ntexcepts 1€ equadtion is in
stavdovd folm  =Ax*roXrc
Usihg the discriminant, determine how Mmahy solutlohs exist.
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The roots, zeroes, Or x-infercepts are also called The ,§_93¥A.QQQ_§_.,,, of .Yhe equation.

[ Find the zeroes of the graph below. 5 aketeh the graph of :?f Jﬁ’i‘ ~ Aé
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N Y- Bx =0
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v Lok Yoy =0
4333 Quadfafics can have ONE, m,g_ . or ‘MQ________
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| Solve for y or for zero. tnfer
that equation mfo y *
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: Sblvé the following equations using
your calevlator.

X2 -5=—4x
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